DIvISION WITH A REMAINDER II (H - SET 5)

DIVISION WITH A REMAINDER 1;1: Seorer |
301 34240 + 5 = 069572+ 5 =
392) 44807 = 6 = 107 41324 +5 =
393 5623 = 1 = 108) 48280 + 6 =
399 33423 = 8 = 109) 35395 =4 =
395 61535 = 7 = 110 23731 =6 =
306) 18182 +4 = an 7086 + 1 =
307 22693 + 3 = 12 1829 +9 =
39%) 1514 = 4 = 13) 59500 = 10 =
309) 43449 + 5 = 111 55356 =+ 10 =
100) 52982 = 7 = 115) 44297 = 6 =
101) 48832 = 7 = 16) 22162 = 10 =
102) 29620 ~ 3 = an 14324 + 2 =
103) 14164 = 2 = 18) 29339 =5 =
1019 6652 — 3 = 19) 2804 -4 =
105) 67850 + 8 = 1200 2314 + 3 =
Mathematics: Division - Level § - Horizontal - Set 5 15 culu


https://www.workulum.com

